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1. HIV 9
HIV
N=9 N=19
, years 53.0+ 8.8 56.2+ 9.6
; 9 19
, 9 19
HAART + 9 -
, 5 11
) 1 5
) 1 0
) 2 3
) 7 16
) 5 11
HBV +), 0 1
HCV + 2 1
Cr, mg/dL 6.8+1.3 7.0+24
Hb, g/dL 8.1+1.8 9.0+14
Alb, g/dL 3.3+0.3 3.3+0.8
K, mEq/L 4.6+0.6 47+1.0
Ca, mg/dL. Alb 86+0.9 86=+0.9
iP, mg/dL 54+12 51+1.5
iPTH, pg/mL 252 £ 149 148 £ 92
B2MG, mg/L 17.2+5.6 11.9+ 6.2
CD4+ T cell count, cells/pL 274 + 85 -
HIV-RNA level < 50 copies/mL, % 100 -




2. HIV 9

HAART
1 74 8.9 + 3 88 HD
2 61 6.0 - 5 135 HD
3 59 5.8 - 3 27 HD
4 56 5.7 - 2 75 HD
5 54 4.5 - - 0 0 HD
6 58 4.6 - - 2 31 HD
7 49 4.6 + 2 28 HD
8 41 4.2 + - 1 5 HD
9 66 3.5 - 2 133 PD

HAART, highly active antiretroviral therapy; HD, hemodialysis; PD, peritoneal dialysis

3. HIV 7

HD P value

HAART , % 100 100 NS

CD4 (cells/uL) 277 + 91 266 + 148 NS

HIV-RNA level < 50 copies/mL, % 100 100 NS

Hb (g/dL) 8.3+ 1.7 10.0 £ 1.1 NS

Alb (g/dL) 3.2+0.2 3.7+0.4 NS

K (mEq/L) 4.6+0.6 49+0.9 NS

Ca (mg/dL) 8.0+0.8 8.8+0.5 NS

iP (mg/dL) 5.5+1.2 6.0+1.1 NS

iPTH (pg/mL) 209 + 105 156 + 123 NS
B2MG (mg/L) 18.5+ 4.6 36.5+10.1 0.0043

HD, hemodialysis; HAART, highly active antiretroviral therapy; HIV, human
immunodeficiency virus; Hb, hemoglobin; Alb, albumin; K, potassium; Ca, calcium; iP,
inorganic phosphate; iPTH, intact parathyroid hormone; B2MG, beta 2-microglobulin;

NS, not significance
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